mean # PXL hits vs eta

<pixel hits>

Ratio

R
I
E

-
[ ]
-

=

*W%WWM@M

0.95

o 12 3

mean

# PXL Layers with measurement vs eta |

<pixel layers> [

N w -
N O W U A WU

L g L]
= s
S SO PRR SRS SO A

0.95

=

n
-Test_1000evT
|tREFt test 1000evt

mean # STRIP hits v

<strip hits> [

lvlvlvlwle
1o0Q0d
ZZZIZE.
33330
XAXAXXN
'I'I'I'I'I'I'I'I'I'

ItREFit-OR-Test_1000evt
ItREFIt-ORK-test_1000evt
|tREF|t OR4 test “1000evt

14

12}

10

|‘||||||||||||

waﬁww i

4

0.95

53 —i2

510 '1 5 3

<strip layers>

.....................................................................

IqlIillIIiIIII.IIIIIIIIIIIIFI

0.95

3

+

-- HH###W HWMW

=3 —2

" '1 2 3



	Contents
	Page 1


